



$$85,349 - 3,27 = 82,079$$

$$362,4 : 4 = 90,6$$

$$0,06 \times 95,26 = 5,7156$$

$$99,458 + 6,207 + 9,74 + 87,66 = 203,065$$

$$\begin{array}{r} 85,349 \\ - 3,27 \\ \hline 82,079 \end{array}$$

$$\begin{array}{r} 006 \\ 95,26 \times \\ \hline 36 \\ 120 \\ 3000 \\ 54000 \\ \hline 5,7156 \end{array} +$$

$$\begin{array}{r} 4 \overline{) 362,490,6} \\ \underline{36} \phantom{,} \\ 024 \\ \underline{24} \\ 0 \end{array}$$

$$\begin{array}{r} 3211 \\ 99,458 \\ 6,207 \\ 9,74 \\ 87,66 \\ \hline 203,065 \end{array} +$$

